18950 Folding Table Type Keyboard Stand

18950.000.55 black

4
33—
2 —
1 — e
ﬂ
pos.  description art.-no. qty
1 flat headed screw M6 x 10 mm 03.03.420.25 4
2 plastic end cap 03.20.781.55 4
3 button head screw M5 x 35 mm 03.03.280.29 4
4 rubber padding strip 03.21.930.55 4
5 fine adjustment screws M8 x 35 mm 03.22.868.55 4
6 locking nut M8 03.08.430.29 4
7 U-profile height adjustment 5.18950.5.55 4
8 knurled knob M6 x 30 mm 01.82.850.55 2
9 locking nut 03.08.240.29 8
10 hinge complete 7.189.500155 2
11 button head screw M5 x 40 mm 03.03.285.29 4

-5/06-

)

(

SPARE PARTS KEYBOARD STANDS

18950



